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1.

Statement : 4. Statement :
Government schemes are essential The Union Ministry of Communications
for the growth and development of has recently launched ‘Deen Dayal

the country. SPARSH Yojana', a pan India scholarship
Assumption | : program for school children.
Make in India campaign by the Assumption I :
government has become a great This scheme is to increase the scope
success. and reach in philately.
Assumption II : Assumption II :

Children of age group 8 — 16 years are
eligible to apply for this scholarship.
aly Assumption [ is implicit
aption Il is implicit
and II are implicit

There are no such creative programs

previously launched by the

government.
(A) Only Assumpti

d in that
‘ of girls

irror image of
(A) Only Ass;.lmption
(B) Only Assumption II is imp
(C) Both Assumptions [ and II are implicit Al RARTEIOIN
(D) Neither Assumption I nor I is (B) AAATZIOIA
implicit (C) REGISTRAR
Statement : (D) AAAT23ID3A )

Chemical fertilizers, fuel and food
additives are all pollutants and all 7. Find the values for X, Y and Z.
pollutants affect our health conditions
seriously. 42
Assumption I : ;
Using unleaded petrol in cars will help 24 | Z
reduce the pollution.
Assumption II : ¥ 4.104.8
Spraying pesticides on plants to kill
the pests is good to increase the crop Togpay X
yield.
(A) Only Assumption [ is implicit (A) 1,19, 14
(B) Only Assumption II is implicit (B) 2,16, 16
(C) Both Assumptions I and II are implicit ) 3; 14, 18
(D) Neither Assumption I nor Il is i
implicit . (D) 5, 1-_2, 13

S/FIP/IL/2019/ 2-C 3 _ [P.T.O.
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8.

Identify the cubical box that can be made
when the following figure with six faces
numbered from 1 to 6 is folded.

(A)

(B)

(©)

(D)

When a dice has been thrown four times,
it produces following results each time :

T u Q R
s R |P R |V

Q T

Which one of the following alphabets
contained face appears opposite to the face
having alphabet ‘S’ in the dice ?

(A) P
(B) Q
(€) R
(D) U

S/F/P/11/2019/ 2-C
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10.

13.

Arush is the son of Ambika; Ambika and
Avani are sisters; Aarti is the mother of
Avani and Aman is the son of Aarti. Which
of the following statements is true ?

(A)
(B)
(€

Aman and Arush are cousins
Aman is maternal uncle of Arush

Avani is the maternal grandmother of
Arush

(D) Ambika and Aarti are sisters

ointing towards a man in the photograph,
“the father of his brother is the

her”. How is the man

D) Will request the driver of car not to
do again

4
In which of the following situations you

are most likely to send a card ?

(A) When you wish to seek emergency
medical appointment

(B) To wish new year greetings to your
friends

(C) You wish to watch a cricket match with
your friend

(D) You have to buy groceries

[ P.T.O.
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14. A person who shuns the company of 17. Statement:
Most of the job appointments have a

other eooplic can: e caliod. & one or two year probation period.

(A) Recluse Assumption | :
It is difficult to judge the abilities of
(B) Solitary the candidate completely at the time
of appointment.
(C) Ascetic Assumption II :
People try to demonstrate their
(D) None of the above maximum potential during the
probation period.

A) Only Assumption | is implicit

mption Il is implicit
are implicit

or 11 is

15. The impact of a person or comua
the environment, ex

of land requirg

natural reséu 1
i Sl 18 -
(A) E A ve
bullet trai
(B) C .

(C) ’

. S The Viston

Directions (Question Ne
questions below is given a
two assumptions numbered I and
assumptions and decide which of them is imp
in the given statement.

plicit
pns are implicit
Assumption I nor Il is

impicit

19. What is the simplified value of the following

16. Statement : expression ?
Present education system must be 1
overhauled to improve the employment ¥ S I T
situation in India. 3+ I T

: 3+
Assumption [ : 3.1
An individual would be able to earn 3
proper livelihood. 13
Assumption II : (A) 33
The meaning of education in young 29
minds will be clearer. (B) 34
(A) Assumption | is strong 8
(B) Assumption Il is strong (C) 13
(C) Assumptions | and II are strong 32
(D) Neither Assumption I nor I is strong (D) a3

S/F/P1/2019/ 2-C 7 [ P.T.O.
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Directions (Question Nos. 20 - 24) : Read the 20. Which one of the following can be best

following excerpt and answer the questions asked concluded from the passage ?

at the end. The answers to the questions should be (A) A preventative gear is expected to be

based on the excerpt. effective for individuals who will afford
<y the skater the necessary space and

The notion that protective gear reduces the injuries attention

suffered in accidents seems at first glance to be an (B) A preventafivé gear it expected to be

obvious conclusion. After all, it is the intent of these effective only for individuals who are
products to either prevent accidents from occurring motorists
in the first place or to reduce the injuries suffereg A preventative gear is expected to be

hen individuals wear

by the wearer when an accident gg
conclusion that investi

gear greatly redug

preventative &
and protective g8

gear is intended to v
most part motorists, of
skater. It works only if the “other” 15

and caring individual who will afford the skater

Fing the injuries

According to the passage, which of the
following best describes the word ‘gear’ ?

the necessary space and attention. Protective gear 8
is intended to reduce the effect of any accident, (A) An equipment used for driving
whether it is caused by another, the skater or (B) A machine part

some force of nature. Protective gear does little, if (C) A toothed wheel

anything, to prevent accidents but is presumed to (D) A device for protecting a personnel

reduce the injuries that occur in an accident. The
23. According to the passage, which of the

following can be used to minimize casuality
in an accident ?

statistics on injuries suffered by skaters would
be more interesting if the skaters were grouped
into those wearing no gear at all, those wearing

1 - . - t .
protective gear only, those wearing preventative (A) By using all protective gears

gear only and those wearing both. These statistics (B) By using all preventative gears
could provide skaters with a clearer understanding (C) By wearing reflectors

of which kinds of gear are more beneficial. (D) By wearing helmet
S/F/P/11/2019/ 2-C 9 : [ P.T.O.
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24. According to the passage, a high reflecting ~ 28. If a seller reduces the selling price of an item
material from 2 400 to T 380, his loss increases by
(A) may be used to minimize accident 29 . What is the cost price of the item ?
(B) may be used to minimize injury in an (A) ¥1,000
accident (B) 1800
(C) is a material that reflects light (©) 21,200
(D) is a light material (D) %1,100
25. Thelinesx=y/4+aandy= s can make 260 mats in
e%chotheratthe' 3 d 4yswillmake
(A) O
(B) 3/4
€ 1
(D) 9
- 26. A gtude
marks to pa
by 40 marks. Th
(A) 300
srgy has become more
(B) 400
(C) S00 (C) Electrical energy consumption is
increasing
(D) 600
(D) None of the above
27. When sun’s altitude changes from 30° to

31. P, O, R Sand T are to be seated in a
60°, the length of the shadow of a tower row facing north, but R and S cannot be
together. Also, Q cannot be at third place.

ecrea 70 m. What i heigh
4 ges by. 70.1m i a ¥ If Pand Q are together and Ris at the first
the tower ? place, then which of the following cannot
be true ?
(A) 35m
(A) Sisat fourth place
(B) 140 m ’
(B) Sisat second place
(C) 60.6m (C) Pis at third place
(D) 20.2m (D) None of the above

S/F/P/11/2019/ 2-C 11 [P.T.O.
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33. T daa W # 256 %1 HaE™ ‘you are good’
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32.

38.

Mother : Parent 36. Ajay is standing west to Varun at a distance

A) Uncle : of 1 km. Ajay starts walking in the north
e s direction, whereas Varun starts walking in

By Sister : Sibling the north-west direction. Both meet after
(C) Father : Son 20 minutes. The ratio of speed of Varun to
(D) Daughter : Sister RS oy n

A V2
In certain code language, 256 means ‘you
are good’, 637 means ‘we are bad’ and B) 12
358 means ‘good and bad’. Which of the ©) 2
following correctly represents ‘and’ in that
code language ? (D) 1/2
(A) 2
(B) 5 is represented as “1J".
i£) 3 qual to ten times
(D) 8 igit number is

but also recommend

(B) Only Assumption II is implici
(C) Both Assumptions are implicit - (A) Patient
(D) ?leltl.xer Assumption I nor Il is (B) Dissatisfied
implicit
(C) Satisfied ()
In a class, Ashwin finds that number of (D) Impatient
students who have performed better than
him is thrice the number of students who 2 ;
have done worse than him. If Ashwin’srank 39 isconsidered as an aggressive
is 61, then the total number of students in behaviour and will most likely bring
the class is equal to negative response from the speaker.
(B) 81 (B) Yawning
(C) 82 (C) Ignoring
(D) 83 . (D) None of the above

S/F/P/11/2019/ 2-C 13 [P.T.O.
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40.

Directions (Question Nos. 41 -
the following bar-chart ca
questions given b

A is a word which connects
words, phrases, clauses or sentences.

(A) Preposition

(B) Conjunction
(C) Interjection

(D) Verb

the income ag

of five mq

companies (P, Q, R, Sand-T) in

/

RN

Vmm
2o 1
= 150 | /-
S s00 % é
2 5 7 B
3, % R

°
o
o
(4]
-

Name of mobile company

41.

Find out which of the following companies
earned the maximum profit in the year
20157

A) Q
B) T
€ R

(D) S

S/F/P/11/2019/ 2-C
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42.

45.

Find out which of the following companies
had the maximum loss in the year 2015 ?

(A) P
B) Q
€ R

(D) S

as the profit/loss percentage of the
together had in the year

*;59/“
‘ (C) 5%

.25% loss
(C) 6.25% profit

(D) No loss and no profit

: 4

The company S had a loss of 20% in the
year 2014 and the company’s income in the
year 2015 was 25% more than its income
in the year 2014. What was its expenditure
(in lakhs of rupees) in the year 2014 ?

(A) 320 . ° gl 4
(B) 360
(C) 400
(D) 420

(P.T.O.
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B) P / \
.7
D) W Ay /

48. wIRRF AR AR \
(A) 100 \ {
(B) 200
(A) 16(r-1)
(C) 100V5 (B) 16(16 - n)
~e] 16(4 - n)
(D) 100v2 (D) 16(4 - /2)

S/F/P/11/2019/ 2-C 16
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Directions (Question Nos. 46 - 49) : Read the 49. Who of the following is/are sitting either

following excerpt and answer the questions asked North or South of T ?
at the end. (A) Only-Q
(B) Qand W

In a party, a square table with each edge measuring (C) Only R
200 cm, is kept in the garden such that the four (D) Rand P
edges of the table are either parallel to North - South 50. Cell phone usage has been steadily
or East — West. increasing in recent times. This definitely

. S means that
Eight persons (P, Q, R, S, T, U, Vand W) are sitting (A) Cell phones have become cheap
around this table facing the centre of the table. Four (B) People started getting more income
persons are sitting at the corners of the table and (C) Many cell phone shops have opened
the remaining four are sitting at the centre of each (D) Cell phone companies give many
of the edge of the table. advertisements

ow, AC + AB = 5AD and
of the rectangle

P and W are facing each other =
between them is the ma
between any two pers

The directions r
below are wi
independent
Vis sitting |
R is sitting

, four identical
Mare. For each coin,
ea to circumference is same

(D) Vand Q
fhe ratio of circumference to area. Find
the area of the square that is not covered
47. Who is sitting to the left of the person S? by the coins.
(A) U / \ 4
(B) P
€ T
(D) W

48. The distance between Wand R is equal to

/
e

(A) 100

(B) 200 (A) 16(x - 1)
(B) 16(16 -m)

(C) 100V5 (€) 16(4 - )

(D} 100v2 ‘ (D) 16(4 -=®/2)

S/F/P/11/2019/ 2-C 17 [P.T.O.



gThe Vision

O A A
| 53. 2/5 Wagmaied 3 et A RNACAFIE  56. mmﬁmmmm&meﬁ
fran 3iR T 3 Sl B W AR A AR m@mm%mmmm
faT | T & 15% FaRTENSA 3 Rt A e fovan T 71 & | A T Al I T
3 % s A A R o 25% TR W*mmmmﬁmf“
el B de 2 5 o AR A e | 3 P g e & | AT A
| sreeft A 200 A1 A FTEN | RIS A A A e w1 e & R g s e
. it ¥ wet 3 for B oiR aw g e

o C. N

¥ e Vivion 888

AR 30 e F T I
e gﬁ%mgmﬁﬂwaﬂﬁ%ﬁq
(A) 2/11 = e
_BY1/4 D) @ dwarge & it At 78 W
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53.

2/5 of the voters promise to vote for A and
the rest promised to vote for B. Of these,
on the last day 15% of the voters went back
of their promise to vote for A and 25% of
voters went back of their promise to vote
for B. A lost by 200 votes. Then, the total

number of voters is

(A) 10000
(B) 11000
(C) 9000
(D) 9500

54. 40% employees of a company are men
and 75% of he 'mén earn more than
% 25,000 per year. If 45% of the company’s
employees earn Tnore than ¥ 25,000 per
year, what fraction of the women emaployed
by ‘the company earn Z 25,000 jor less per
year ?
(A) 2/11
(B) 1/4
(€ 1/3
(D) 3/4

5§5. Let p and g be the roots of the quadratic
equation x? - (@ - 2)x - a - 1 = 0. What is
the minimum possible value of p? + ¢* ?
(A) O
(B) 3
€ 4
(D) 5

S/F/P/11/2019/ 2-C
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56.

§7.

A musical event of a famous singer is being
organized only for the employees of your
organization and their families. One of your
friend is a fan of this singer and requests
you to take him as your family member.
What will you do ?

(A) You will tell your friend that the event
is strictly for the family members and

that he cannot attend
(B) You will oblige your friend by asking him
to pretend as your family member
(C) You will avoid taking your friend by

making some other excuse

You will not talk to your friend for
asking a favour

(D)

You ordered a TV from a website. It so
happens that the TV falls down ‘while
unpacking and gets damaged. You incur
significant financial loss. What would you
de. 2
(A) File a refund pretending as if the TV
was received as damaged piece

Keep the TV and try to get it fixed

File a lawsuit for financial loss due
to packing issues

(B)
(€

(D) Never buy a TV from that website

You have an exam tomorrow and a friend
of yours approaches you at your home’ for
help to understand Newton'’s law. What will
you do ?

(A) Ask your mother to tell your friend that
you are not at home

(B) Meet your friend and tell him that you
don’t understand Newton'’s law to save
your time for preparation

(C) Sit with your friend and try to explain
Newton'’s law to him

(D) Tell him that you will let him copy

in case Newton’s law is asked in the
exam

[ P.T.O.
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59. 3119 U SETEE F ATE4 § | AT 76 % SHaR A
frerrara 1 @ 5 o B sam agpei @t SteTH
33T UFA & | A9 H w7

(A) feufa 1 wia @ oiv et s @0 @
THE TS § WEE HOl

(B) FaTE 7 2 R & s ua St
AF Fis GHETA 8

() =t wrmam ¥ Fafiw 51 smam sma
H A F @ o sfefe 1.

] B £ st S 5 A
fafaf o w0 @ v
60. U 19 U winepe 15 FAl. 2l s w2

T Tl & | T8 A a8 g8 A F ST e
721 o, aft e s # g A i =
#i e il o NS R 7
(A) 1.8

oAH) 3

(C) 4

(D) 5

61. yiFvErFHI a1 Fh vfawR e 1=
T A1 T # wfeger 35 fa A, aen we @
3in 12 %2 g firg AT ohe ST |
wITd st # wex qra i vfa (oAt wfa o2 &)
FE?

(A) 8
ABT 6
) 7.5
(D) 5.5
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62. UM 1.5x=0.04y8, M (ly-x) / (v + x) FAH

g

AAK) 73/77

(B) 7.3/77

(C) 730/77
(D) 7300/77

63. 3 x0.3x0.03 x0.003 x 30 F WH EM
(A) 0.0000243
(B) 0.000243
S 0.00243
(D),0.0243

7 %
= M-o
+ + | X = ¢
H[E
Ay 23
(B) 32
(cr 12
(D) 14
65. F@en sl @A & fou 2 fram me v fog
(7) % foru forapedl & @ ot fog it v & |
*AKX | XOK [ XOO *xO8 (*8@ ]
' E R SEEEZE B A5 B I S B 7
PR AEE AR R SR ® :
* ok ok [k X Jt * * J
EX X
@ |*3*
*®®
B) [*s"
®
*®e|
C) |®°e™
*8 8
(D) |®8°®
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59. You are a warden of a hostel. The mess 62. If 1.5x = 0.04y, then the value of
contractor files a complains that some (y-x /by +x)is
students take mess food to feed the stray ((g; ;?3/7777
animals incurring financial losses to him. (C) 730/77
What will you do ? (D) 7300/77
63. What would be the value of
(A) Will pacify the situation and help in 3x0.3%x0.03x0.003x307?
making up losses in some other way (A) 0.0000243
(B) 0.000243

(B) Will try to avoid the complaint b

(C) 0.00243

not responding_se
answer for the question

il

7

o N : e Visicr:

of the boat in still

B 32
(A) 1.8 ) 12

(B) 3 (D) 14
65. Identify the right figure from the given

i Sy multiple choices for the question mark (?)
D) 5 shown below to continue the series.
*kk [ B %[ *BO ¥*OB | XOQ
Srlretn et il
61. The stream flows at 1 kmph. A motor boat Ak k| xk | * *
goes 35 km upstream and back to the Ton
starting point in 12 hours. The speed of A 158
the motor boat (in kmph) in still water is s
*®e
(A) 8 (B) :E*
= © |62
) 7.5
*® 6
(D) 5.5 (D) |®8°®
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66. U UF STHAETE & YaUF & | e #iI 68. TTF! A e AT 3N TTHaE 1 [B-AB F
YR3TTE B AU BT ¥ 9ol B wwrE R | for s {-3e e A ® | 39 w0 F G 7
T T HAT 7 (A) o8 B Feg I I faamm g9 @
(A) HSpE wREne & an # st ® (B) ¥-Ie I wer &0 3 e S
ST (C) & FHA % fore 3wt 3 o 3 e it ik
TS HeATUa FA i STy #i

(B) Wmaﬁ%wﬁﬁ ity 1 samn

aﬁm'—rﬂiﬁsﬂtm
it &1 -3 snifva H

e & ol

i “ i 2, 3 frE & ¥

& virarem & = # | fame
I TIAT # | ACTHTS AT TSt 1 e
F1 GHIIH FA 71 2| 379 F1 F+ 7

(A) 9 A B !
(B) 19 FFATH drerd
(C) 39 35 a1 § F& FHd

(A) 38 ATIFH! T T 3 * fou wEn o el

(B) 39 37T AT 3N GHE F 8 F3 3
71. it v § w2 3w ol A Fan d, vy el

(C) 38 U e F 3d § 39 & foru wan TR E 119 A BR A 41 FHARR |
it et wg @ i S ST Fan & fr o & 7
w2 (A) 50
BT 51
B v haera s ) st 3, w4t i 5
T TSI TOHT 1 549 T8 FON (D) 53
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66.

67.

S/F/P/11/2019/ 2-C

You are a hostel manager. New students are

expected to join at the start of the semester.
What will you do ?

(A) Will apprise the authorities about the

prevailing problems

(B) Will apprise the authorities about the
prevailing problems and try to get them

fixed before the new students arrive

(C) Will apprise

ot i

your neighbot
toilet. The seepage se¢
your toilet. A plumber visits to fix your

neighbours problem. What will you do ?
(A) Will ask him not to bother you
(B) Will let him in and fix the problem

(C) Will ask him to come on a weekend as
it would take a lot of time and that you

have work to do

(D) Will allow the repair to be done in your
toilet provided your neighbour bears

the repair cost

23

71.

Vision

You receive an e-mail asking for your bank
login and password. What will you do ?

(A) Will send your bank details at the
earliest

(B) Will delete the e-mail and forget
about

(C) Will reply to know why they need to
verify the bank login and password

(D) Will not respond to the sender and
forward the e-mail to the concerned
authority

racked water on a street
e bottle. What will

dispose in

throw it

of opinion with
vou would express most

(A) You are wrong !
(B) You speak rubbish 4
(C) You don’t know about it

(D) 1don't agree with your opinion

In a class of some students standing in a
straight line, the position of Ramu is 11"
from left end and 41* from right end. How
many students are there in the class ?

(A) SO
(B) S1
(C) 52
(D) 53

[P.T.O.
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72. @ gt 3 A wEE & wHEl A Seay
ofEda & 8 F guae & forg % w0 ved
w0 % Seen R ? | 7e i @ R
(A) & # F§ Fam TE I T A
(B) & # 33T 7Y Faw Aga =S &
NAe] SieraTg TiEde ¥ WHE ST st R E
(D) 378 THNI & THE! T IFEES 04 &

73. @a%mmﬁﬁﬁwﬁmmaﬁuﬁa

A BHfiEET ¢
E, DHITIR | A D
(A) BT

(B) =&

(C) =
N

75. TN Y IsNT 914 GHT TF Fa FI 3iEa 1
60 T 1. /52 Bt & 3R 359 | 3R il 7O
T W oited & dm x for. . /= it sfvea fa
Bt ® | afE ot aEn # fou e i ofwa wfa
sgf . /o, A xF AR
(A) 45 . /a2
AB) 40 fFft. jaa
(C) 36 .. /g
(D) 30 &t /g

74.
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frdw (w1 %. 76 - 80) : Fr=fafEa sramm i ofed
i 3 o o A el % I A | el o I S
W AuTiE B =1 |

79 91d ¥ H g @ & fF seafis &1 gel | T
oAt Ot vl wuTE e £, fa v 8 S
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72. Heads of governments of almost all the
countries have decided to take many urgent
initiatives to address the climate change
issue. This shows that

(A) There were no steps taken in the
past

(B) The steps taken in the past were very
good

(C) The effects of climate change are more
severe today

(D) There is unnecessary pressure o
heads of governments

73. The new Principa
each student ip

regular basi
(A)

(B)

(€)

(D) He feels t

and mental

74. A is B’s sister. Cis B's
father. E is D's mother. Then,
related to D ?

(A) Grandfather

(B) Daughter

(C) Grandmother
(D) Granddaughter

75. A cab has an average speed of 60 km /hr while
going from Indore to Ujjain and has an
average speed of X km/hr while returning
the same distance from Ujjain to Indore. If
the average speed of the cab for the whole
journey is 48 km/hr, the value of X is

(A) 45 km/hr
(B) 40 km/hr
(C) 36 km/hr
(D) 30 km/hr
S/F/P/11/2019/ 2-C 25
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Directions (Question Nos. 76 - 80) : Read the
following excerpt and answer the questions asked
at the end. The answers to the questions should
be based on the excerpt.

There is increasing evidence that the impacts of
meteorites have had important effects on Earth,
particularly in the field of biological evolution.
Such impacts continue to pose a natural hazard
to life on Earth. Twice in the twentieth century,

are known to have collided
e enough, it can

of years, those
ed. Then, suddenly,
appeared. The body that impacted
Earth at the end of the Cretaceous period was
a meteorite with a mass of more than a trillion
tons and a diameter of at least 10 kilometers.
Scientists first identified this impact in 1980 from
the worldwide layer of sediment deposited from
the dust cloud that enveloped the planet after
the impact. This sediment layer is enriched with
the rare metal Iridium and other elements that
are relatively abundant in a meteorite but very
rare in the crust of Earth. Even diluted by the
terrestrial material excavated from the crater,
this component of meteorites is easily identified.
By 1990, geologists had located the impact site
itself in the Yucatan region of Mexico. The crater,
now deeply buried in sediment, was originally
about 200 kilometers in diameter.

[ P.T.O.
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76. Why does the author include the information = 78. Which one of the following led the scientists
that dinosaurs had flourished for tens to conclude that a large meteorite had
of millions of years and then suddenly impacted Earth ?
disappeared ?

77.

(A) They discovered a large crater in the
(A) To explain why paleontologists Yucatéan region of Mexico
have always been intrigued by the ;
mass extinction at the end of the (B) Theyfound a layer pf sediment

Cretaceous period (C) They were alerted by archaeologists

who had been excavating in the

(B) To support the claim that the mass Yucatan region

extinction at the end of the Cretaceous
period is the best-docume
dozen or so mass

ound were enriched

ver : Scientists have

gmass extinction at the end of the

Cretaceous period with a meteorite impact
on Earth because

Which of the following can be
about the location of the meteorite impact
in Mexico ?

(A) Geologists knew that there had been
an impact before they knew where it
had occurred

(A) It is believed that meteorite activity
influences the evolution on Earth

(B) The site of a large meteorite impact at
(B) The location of the impact site in the end of the Cretaceous period was
Mexico was kept secret by geologists identified in 1990
from 1980 to 1990

(C) There have also been large meteorite

(C) It was a well-known fact that the impacts on the surface of the Moon,
impact had occurred in the Yucatan leaving craters
region
(D) Large meteorite impacts, such as one
(D) The Yucatan region was chosen by at the end of the Cretaceous period,
geologists as the most probable impact can seriously affect climate, ecological
site because of its climate niches, plants and animals

S/F/P/1/2019/ 2-C 27 [P.T.O.

8




gThe Vision

Fdwr (w7 9. 81 @ 85) : R 7 menw ¥ Ium W
frferfiaa wet % 3w difs |

T - 1
TUHER g7t w9 F FHor aes am A ae
wiifem 1 zan o1, Rl 37t 0oy & | TR Fe
B wfeeity it vra @ 39 O e 3 gy

T | waTgE S wd agge § an- s et &
et after g it e T E mmgamﬁﬁa:

() afirs
BT
82. UG A FH-uI IF fpar 7
A Tl
B) fary
(C) HIF
(D) Weres a7

83. ST ¥ 7 A i e ) 7
&) i =R |
ST |
(©) yFeE {
(D) TG |
S/F/P/T1/2019/ 2-C | 28

A 50 0 e
84. AV FI T A ¥ forwd w o 7
(A) g3
(B) =aTESht A
te] Efwst Y
(D) A

85. SN & s am=nar ?

w1 T :mgam% mmaﬁannitaammﬁ
TE g8 oft, 7@ 32 ot g F FEE F g
75 e o, foreds afomrasy 3F g g #
S g1 A1 | 3 : T oRfRfa s g R g
T ] TS | R I F@E F I &0 |
A H 39 € TS W g SAeEeEe 1 19 %

T R | B9 3% @ TN 9 a9 1 A W,
I3 B |

86. TN Z¥RY ¥ fa frame g ?
(A) §T
B @A
(C) ¥R
(D) ui=




;The Vision

0 0 0

g7. Wefd afdts 3 TN TIRY T 791 wene A 7 frdwr (ve9 €. 91 & 95) : & M mew & mem W

s fraferfea wei % 3w Aifem |

Sl e - 3
it it e e 1 e e
(C) AT F 2 m%azmmﬁar%sﬁaaaﬁ’mm yfee s sl

Srar-

i ﬁ%lmm%mw ST TATE

? lm%mwmﬁmﬁaﬁmrﬁﬁm
ﬁ%lmm%mmwa@qﬁftl%ﬁ%
i 6 T ﬁmwﬁwmmﬁéil

gs. WM afire I 79 w4 ¥ fore forar wefd i a1

89. TSI ZMY AT

e St i v, 9 3
(B) |WTEE | .
e gt & Mm*‘
(B) ud #Hi
(D) Afafe | ©) TR
(D) THTS

90. TS 2WY % Fe fyen A & 7

92. uifeea Fi 3= & wredl § HEEql 4=
(A) SF

frgai 2 7
ABT T (A) FETEE
© i B) Frmem
(C) TareE
(D) SRS B

S/F/P/11/2019/ 2-C 29 (P.T.O.

%




gThe Vision

93. WAl F e = Siar-PTn T ®
W T
(B) T
() F@eE
(D) fremem

94. HZUI HAl % AR & TEA FIHA- F
wHieT a1 ?

95.

{0 0 O
96. il ST 1 YA AEE F1E 7
(A) SR
By
(C) "I
(D) wRd
97. el &t anfde fag=m =1 yg@ FRO R R ?

A) ITFHvTET

7T 7

The Vision

TV - 4
e o frefr s 2 | e e e F R e
rfefia @al & worgdt, TNqaTe, STelt s # s
aun wEdt § s Fmfor # feerdt nergd w Fm e
et wema # | ofiet it snfele foreren =1 o wgE
HOT A B e = F R | ofie A e w9 wea
} et YO F AU WOR A gl 1 @ S § |
IR A GIRFR 9 HESH1 g1 U 10 w0 Agar =
76 A sEvet 1w 2, e gEm a a|m
it et 7 Freper wd | il Y s waf

oft o W@ FR 98 R o amr o @ s et

T8 T I | e G Il o S A R S

a1 IpAfe e A oft wferea & W € |

T YT T g FO R
A STt gt 7 = 9
(B) $HFER & HTH FA
(C) 3rfees = F
(D) Tid & THAREA FAT

100. tF 3UH & fore ofiet 38 =i 3 s @
S E?
(A) GTTiSIF FH
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